Page 2 Declaration of Results

includes information on the stage a candidate was elected, turnout and spoilt ballot papers

Page 3 STV Election Result

includes overview of information showing preferences, transfer values, non-transferable papers number of vacancies and quota to be achieved to be elected

Page 4 Turnout

Shows turnout in the ward compared to the other wards in the Moray Council at the same election

Page 5 Preference Summary

Shows the number of preferences by candidate at each stage, total for the ward Further breakdown of this information to Ballot Box level is available from the Elections Results page

Page 6 First Preference

Shows the number of first preferences that each candidate achieved

Page 7 Transfers

Shows the transfers made at each stage to each candidate, and the value of the transfers

LOCAL GOVERNMENT ELECTIONS 2012 Declaration of Results Ward 2 - Keith and Cullen Date of Poll - 3 May 2012

I declare that the result of the election in the Keith and Cullen Ward is as follows.

There are 3 councillors to be elected.

The percentage poll was 39.78%. There were 3107 valid papers and 33 rejected papers.

The quota of votes for a candidate to be elected is 777.

The first preference votes received by each of the candidates and the stage at which any candidate was elected is as:

Name of Candidate	Number of First Preference Votes	Stage at which candidate has been elected
Gary Scott COULL	1319	1
Stewart CREE	474	5
Valery Jane DICKSON	312	
Ron SHEPHERD	702	3
Hazel THAIN	300	

Of the total ballot papers, the following were rejected as void and not counted on account of:

Adjudication Reject Reason	Number
Which does not bear a unique identifying mark in a form that is capable of being read by electronic means;	0
On which the figure "1" standing alone is not placed so as to indicate a first preference for some candidate	28
On which the figure "1" standing alone indicating a first preference is set opposite the name of more than one candidate	4
On which anything is written or marked by which the voter can be identified except the printed number and other unique identifying mark on the back	0
Which is unmarked or void for uncertainty	1
Total number of ballot papers rejected	33

Date 04/05/2012

LOCAL GOVERNMENT ELECTIONS 2012 Election Results Ward 2 - Keith and Cullen Date of Poll - 3 May 2012

Total Number of Ballots Received	3140
Total Number of Valid Votes	3107
Number of Vacancies	3
Quota	177

	Party	Stage 1 1st pref votes	Stage 1 Surplus of 1st pref votes Garv Scott COULL	Stage 2	Exclusion of Valerv Jane DICKSON	Stage 3	Surplus of Ron SHEPHERD	Stage 4	Exclusion of Hazel THAIN	Stage 5	
Gary Scott COULL Scott	Scottish National Party (SNP)	1319	-542.00000	777.00000	0.00000	777.00000	0.0000	777.00000		777.00000 Elected	Elected
Stewart CREE Inder	Independent	474	117.52026	591.52026	114.62911	706.14937	46.33638	752.48575	212.32122	964.80697	Elected
Valery Jane DICKSON Scott	Scottish Conservative and Unionist	312	24.24369	336.24369	-336.24369	0.0000					
Ron SHEPHERD Indep	Independent	702	48.48738	750.48738	116.16365	866.65103	-89.65103	777.00000	0.0000.0	777.00000 Elected	Elected
Hazel THAIN Scott	Scottish National Party (SNP)	300	315.16797	615.16797	18.34183	633.50980	17.11818	650.62798	-650.62798	0.0000	
Non-transferable votes		0	36.58070	36.58070	87.10910	123.68980	26.19647	149.88627	438.30676	588.19303	
Total		3107	II	3107.00000	=	3107.00000	=	3107.00000	н	3107.00000	

LOCAL GOVERNMENT ELECTIONS 2012 Percentage Turnout Report Date of Poll - 3 May 2012

Percentage turnout for all contests with registration complete

Contest Name	Percentage Turnout
Speyside Glenlivet Ward	39.58%
Keith and Cullen Ward	39.78%
Buckie Ward	34.35%
Fochabers Lhanbryde Ward	43.24%
Heldon and Laich Ward	38.74%
Elgin City North Ward	30.60%
Elgin City South Ward	34.18%
Forres Ward	40.92%
Overall Percentage Turnout	37.77%

LOCAL GOVERNMENT ELECTIONS 2012 Preference Summary Report Ward 2 - Keith and Cullen Date of Poll - 3 May 2012

Total Number of	
Valid Ballots	3107
Quota	777
Percentage Turnout	39.78

	Number of 1st	Number of 2nd	Number of 3rd	Number of 4th	Number of 5th
	preference votes for	votes for preference votes for preference votes for preference votes for preference votes for	preference votes for	preference votes for	preference votes for
Candidate Name	each candidate	each candidate	each candidate	each candidate	each candidate
Gary Scott COULL	1319	295	240	82	42
Stewart CREE	474	635	513	166	74
Valery Jane DICKSON	312	220	325	134	278
Ron SHEPHERD	702	477	521	196	69
Hazel THAIN	300	853	162	137	154

LOCAL GOVERNMENT ELECTIONS 2012 First Preference Report Ward 2 - Keith and Cullen Date of Poll - 3 May 2012

Electorate	7893
Total Number of Ballots Received	3140
Percentage Turnout	39.78%
Total Number of Valid Votes	3107

Total Number of Valid Votes	3107
Quota	777

Candidate Name	Number of 1st Preference Votes
Gary Scott COULL	1319
Stewart CREE	474
Valery Jane DICKSON	312
Ron SHEPHERD	702
Hazel THAIN	300

LOCAL GOVERNMENT ELECTIONS 2012 Transfers Report Ward 2 - Keith and Cullen Date of Poll - 3 May 2012

Valid Ballots	3107
Positions to be Filled	3
Quota	777

Stage 1	First Preferences
Gary Scott COULL	1319
Stewart CREE	474
Valery Jane DICKSON	312
Ron SHEPHERD	702
Hazel THAIN	300

Gary Scott COULL Elected with 1319 over quota 777

Stage 2 - Surplus of Gary Scott COULL			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Stewart CREE	286	0.41091	117.52026
Transfer to Valery Jane DICKSON	59	0.41091	24.24369
Transfer to Ron SHEPHERD	118	0.41091	48.48738
Transfer to Hazel THAIN	767	0.41091	315.16797
Non-transferables	36.5807		

Stage 3 - Exclusion of Valery Jane DICKSON			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Stewart CREE	21	0.41091	8.62911
Transfer to Stewart CREE	106	1	106
Transfer to Ron SHEPHERD	110	1	110
Transfer to Ron SHEPHERD	15	0.41091	6.16365
Transfer to Hazel THAIN	13	0.41091	5.34183
Transfer to Hazel THAIN	13	1	13
Non-transferables	87.1091		

Stage 4 - Surplus of Ron SHEPHERD			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Stewart CREE	51	0.0425	2.1675
Transfer to Stewart CREE	427	0.10344	44.16888
Transfer to Hazel THAIN	147	0.10344	15.20568
Transfer to Hazel THAIN	45	0.0425	1.9125
Non-transferables	26.19647		

Stage 5 - Exclusion of Hazel THAIN			
Action	Total Votes	Transfer Weight	Transfer Value
Transfer to Stewart CREE	24	0.0425	1.02
Transfer to Stewart CREE	60	0.10344	6.2064
Transfer to Stewart CREE	302	0.41091	124.09482
Transfer to Stewart CREE	81	1	81
Non-transferables	438.30676		